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Directions (Q. Nos. 36-39): The

36.

37.

38.

144

questions are designed to test your
knowledge of English
Vocabulary. Choose the correct
word from the options given
below and shade/blacken it on the
answer sheet.

Science of flight dynamics
dealing with the motion of
projectiles like rockets and
bombs:

(1) Anthology

(2) Fluid Mechanics
(3) Ballistics /
(4) Cavalry

Branch of Physics dealing with
very low temperature:

1)
(2)
(3)
(4)

Geophysics
Ergonomics

Cryogenics /

Eugenics

Restrained in regard to desires or
passions, especially to sexual
desires

(1) Connoisseur
(2) Continent v

(3) Cognoscente

(4)

Insolvent

(6-A)

Directions

39. A craftsman who makes or

repairs wooden barrels, casks or
tubs:
(1)
(2) Cooper
3)

(4)

Truant

Ceramist
Fabulist

From question nos.
40-43, a statement has been given
and a part of the statement is
underlined. After reading the
statement carefully, you have to
choose the best option for the
underlined section of the sentence
and shade/blacken the correct
answer in your answer sheet.

40. There is Dr. Kalam whom they

assert is the most distinquished
scientist in the country.

(1) who they assert is the most
distinguished scientist in
the country.

(2) whom they asserted was the
most distinguished scientist

in the country.

(3) who they assert was the
most distinguished scientist
in the country.

(4) whom they assert is the

most distinguished scientist

In the country. ./




41.

42.

43.

This kind of behaviour has not
been seen here since the last 10

years.
(1) from the last 10 years

(2) from last 10 years
(3) forthe last 10 years v
(4) of the last 10 years

If 1 would have realized the
nature of the task earlier, | would
never have accepted it.

(1) If I have had

(2) Incase | would have
(3) Hadlbeen ,

(4) Hadl

No sooner did she see me when
she started grumbling about her
new responsibilities.

(1) then she started grumbling

(2) than she started grumbling ./

(3) when she started grumbling
(4) and she started grumbling

Directions : Each of the question no.

144

from 44-48, has a word given in
the beginning followed by four
options. You have to identify the
most appropriate meaning of the
word among the four options and
mark the corresponding answer in
your answer sheet.

(7-A)

44,

45,

46.

47.

48.

Bequeath :

(1) Leave something behind.
(2) Forget about something

(3) To leave something to

someone inwill
(4) To demand constitutionally

Accountability :

(1) Giving financial statements
for accounts

(2) Being answerable for one’s

actions v/
(3) Counting
(4) Briefing

Delegation :

(1) Allocation of funds

(2) Monitoring work

(3) Distribution

(4) Assigning task to others v

Defamation :

(1) False statement

(2) Statement of accusation

(3) Statement damaging one’s

regutatlon v

(4) Statement of praise

Chattels :

(1) All tangible movable and
immovable property

(2) AIll tangible immovable
personal property

(3)_All _ tangible  movable

personal property

(4) All immovable property of
the family




Directions : For Question Nos.

49.

50.

51.

52,

53.

144

49-53, choose the word which is
an antonym of the given word and
mark the appropriate answer in
your answer sheet.

Culpable :

(1) Defendable

(2) Blameless ./
(3) Careless

(4) Irresponsible

Gregarious :

(1) Antisocial v
(2) Glorious

(3) Horrendous
(4) Similar

Capacious :
(1) Limited v
(2) Caring
(3) Foolish
(4) Changeable

Remiss :

(1) Forgetful
(2) Watchful
(3) Dutiful v
(4) Harmful

Honorary :

(1) Dishonourable
(2) Reputed

(3) Paid v

(4) Official

Directions : For Question Nos.

54,

95.

8-A)

54-58, understand the meaning of
the underlined idioms and phrases
in the sentence and mark the
correct option for the meaning
which sentence communicates, in
your answer sheet.

Tagore is the greatest man_of
letters India has ever produced,
said the speaker.

What does the above sentence
mean ?

(1) Tagore has written great
deal of letters

(2) Many letters have come to
Tagore

(3) Writing letters was his
passion

(4) Tagore was a great scholar ./

It was an acid test for the
government.

What does the underlined idiom
mean ?

(1) Test done in lab using
chemicals

(2) An important milestone

(3) Asevere and final test ./

(4) An easy challenge



56.

S7.

58.

144

Sarojini Naidu could be called
the lady with a blue stockings.

What does the above sentence
mean ?

(1) She always wore a pair of
blue stockings

(2) She was a woman with a

= great lterary taste ./

(3) She was very wealthy and
rich

(4) She was fond of blue socks

The captain of the rival team
paid left handed compliment to
the winning team

What does the above sentence
mean ?

(1) Complimented raising left
hand

(2) Complimented reluctantly

(3) Complimented without
sincerity

(4) Complimented unfriendly ./

The police left no stone
unturned to trace the culprits.

What does the above sentence
mean ?

(1) The Police nabbed the stone
pelting culprits
(2) The Police spared no effort

to trace the culprits

(3) The Police found solution
to deal with culprits

(4) The Police made no attempt
to get hold of culprits

(9-A)

59.

60.

61.

Directions : For Question Nos.

59-63, choose the answer which is
nearest in the meaning (synonym)
for the underlined word and mark
the appropriate answer in your
answer sheet.

The policies framed by the
government should be
benevolent.

(1) Good, Just and Fair ./
(2) Strict
(3) Economically viable

(4) Keep the state exchequer in
mind

Some criminal cases prolong so
many years and finally due to
lack of proper witnesses,
criminals are acquitted.

(1) Set free
(2) Forgiven
(3) Declared not guilty v

(4) Given parole

The magician’s adroitness was
remarkable and left the audience
dazed.

(1) Dexterity ./

(2) Generosity
(3) Flashiness

(4) Dressing for the magic
show



62. The guest’s grandiloguent talks
miffed the host
(1) Lofty v
(2) Humurous
(3) Lively
(4) Humble

63. The raging storm roiled the sea
waters.
(1) Spurned
(2) Churned
(3) Soothed
(4) Scalded

Directions : For the Question Nos.
64-66, a sentence is broken in four
parts. Identify the underlined part
which has an error and mark the
correct answer in your
answersheet.

64. One of the problems
(1)

of the modern education system are

v )

that it does not promote practical

application
3)

of the subjects studied

(4)

65. Neither of the soulutions
1)
y were found acceptable
(2)
to the two warring factions
3)

within the company

(4)

66. Our company
1)
is the only one of the companies
[0}
which has shown a growth in
manpower
)

this year
(4)

Directions: For Question  Nos.
67-70, read the following passage
and mark the correct answer for
the questions given below in your
answer sheet.

It is very difficult to define social
responsibility and there are no
standard definitions of it. Some
companies initiate CSR or
corporate social responsibility
with the purpose of philanthropy
and some do it to hide their
wrongdoings. Some other
implement CSR programmes as it
IS the practice in the industry or in
the view of a corporate
philosophy in place. Studies
suggest that a company with a
social responsibility approach is
likely to gain a better acceptance
in the market. Many companies
have taken up CSR activities with
an innovative approach. While
some companies make a day of
social work mandatory for all

144 (10 - A)
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their employees, some other
prefer to sponsor social service
events. Whatever be the reason,
social responsibility initiatives
have some distinct advantages.
They are: important social issues
are addressed, willingness grows
among the public to try the
products and services of the
company with a view to directly
contribute to socially relevant
issues, the brand reputation and
the overall image of the
corporation concerned improves
and its product and services find
better acceptability. Today Social
responsibility has the following
benefits:

It provides distinct competitive
advantage and brand building,
brings employees together by
involving them in a task together,
helps make better wuse of
resources. The CSR activities of
an organization are done at two
levels: First, at the corporate level
and second at the branch, unit or
individual levels. At the corporate
level a direction is set to the social
responsibility issues that are taken
up. A separate unit or department
mainly consisting of volunteer
employees is set up. Then, goal
setting is done and issues are
tackled. At the branch, unit or

individual levels, people are
encouraged to take up CSR
activities.

67.

68.

(11-A)

70.

Identify the idea that does not
fall under the advantages of CSR

1)

()
©)

(4)

Willingness grows among

the public to try the
products and services of the
company

Important social issues are
addressed

The brand reputation and
the overall image of the
corporation concerned
improves

Products and services of the

company get rejected. ./

Arrange in the right order in
which CSR activities happen in
the corporate level.

A
B.

D.
(1)

Goal setting is done.

A separate  unit  or
department mainly
consisting of  volunteer

employees is set up

A direction is set to the
social responsibility issues
that are taken up

Issues are tackled.
B,D,C,A (2) AC,B,D

v () C,B,AD (4 D,B,C A

69. What benefit do companies gain

through CSR activities?

(1)
(2)

Defame
Acceptance

(5)
(4)

Disparage
Denigration

Find the word closer in the
meaning to ‘Philanthropy’

(1)

Benevolence

@)
3)
(4)

Cruelty
Nastiness
Meanness
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How to select one hyperlink after
another during a slide
presentation in MS Power Point ?

(1) Curl+K
(2) Ctrl+D
(3) Tab v
4) Ctrl+H

Which of the following is not a
power point view?

(1) Slide show view
(2) Slide view
(3) Presentation view

(4) Outline view ./

Slide sorter can be accessed from
which view?

(1) Insert

(2) File

(3) Edit

(4) View

Shortcut to insert new slide in the
current presentation is :

(1) CTRL+0O
2) CTRL+M
(3) CTRL+F
(4) CTRL+N

75. Which among the following is an

76.

77,

(13- A)

Important data transfer technique ?
(1) CAD

(2) CAM

(3) DMA v

4) MMA

RISC stands for ?

(1) Risk
Computer

Instruction  Source

(2) Reduced
Computer ./

Instruction  Set

(3) Risk Instruction Set
Computer

(4) Risk Instruction Set
Computing

The performance of cache

memory is named in terms of

(1) Hitratio v

(2) Chatratio
(3) Copy ratio

(4) Data ratio
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Which of the following reads the
data by reflecting pulses of laser
beams on the surface.

(1) Magnetic Disk
(2) Floppy Disk
(3) Optical Disk /

(4) ROM

What is the full form of ISDN

(1) Integrated Services Digital
Network

(2) Integrated Services Double
Network

(3) Integrated Services Digital

Network

(4) Integrated Server
Network

Digital

There is a file extension in the
computer  .png ’. What does
‘png’ stands for ?

(1) Portable Neutral Graphics
(2) Portable Network Graphs

(3) Pretty Network Graphics

(4) Portable Network Graphics ,

81.

82.

83.

(15 - A)

The term of network what is the
mean of SAP ?

(1) Smart Access Point

(2) Service Access Point ./

(3) Service At Point

(4) Service Access Permission

The default style for the new data
keyed in a new workbook in MS-
Excel is ?

(1) Coma

(2) Normal

(3) Currency

(4) Percent

Which of the following Keyboard
shortcut may be used to create a
chart from the selected cells

1) F11
(2) F10
(3) F9

(4) F2
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3 SN POTI MY B3
OIRPTI, JBRTDIRY  COVWTS®
FOTI'T TORBVFTRTY
“TRUE”

“FALSE” 8n¢tom)md oS 2

POTV0J TN CIGIND

(1) NOT
(2) OR

Q) IF v

(4) AND

& Ddny I
BRERT I,
RPPDOIBITR.

evspinjinfelel!
TOONEN3S

(1) so=RFE
(2) Doz
(3) wxAwE

(4) wre v

87. oo

88.

89.

(16 - A)

PO dpe  EeeRma),
To003Y TOOO Fewwm), dReIY
TEEFZBE 2

(1) &3

(2) worBT
(3) Bwex

(4) ééwcee”)os:
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S o BSOSO
Z’Ows-oqswmel TOYDT[LTOW.
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(1) Ao,
(2) TomFo
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(1) mo20pAT
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(2) Vaos 338 IFF o

(3) QT B Red WOTE
WRONTIC NOTN
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(4) = cORYTp @
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The Cell reference for a page of
cells that states in cell C1 and
goes over to column H and down
to row 10 is ?

(1) C1:10H

(2) C1:H10 v

(3) C1:H-10

(4) C1:H:10

Except which of the following
function, a formula with a logical
function shows the word ‘ TRUE
“or ‘FALSE ’ as aresult ?

(1) NOT
(2) OR
@) IF v

(4) AND

Macros can be executed from
which of the following menu ?

(1) Format
(2) Home
(3) Insert

(4) Tools

87.

88.

89.

(17 - A)

Which function displays row data
in a column and column data in a
row?

(1) Transpose .,

(2) Index
(3) Rows

(4) Hyperlinks

You can check the condition
against when applying
conditional formatting.

Fill in the blanks with correct
option.

(1) Cell Value
(2) Formula

(3) Bothof above |,

(4) None of the above

“VLOOKUP ”
to :

function is used

(1) Find related records

(2) Works up text that contain
‘V’

(3) Check
identical

if two cells are

(4) None of the above
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(1) =time()
(2) =nowtime ()

3) =now() v

(4) =-currenttime ()
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(3) Bewo Fez®

(4) azp0dne v
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35 S v
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o330 805016033@
RPCBTTONTD 2

ws%@
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(3) R

(4) ooy
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A function inside another
function is known as :

(1)
(2)
(3)
(4)

Round function
Sandwich function
Switch function

Nested function ./

Which function will you use to
enter current time in a worksheet
cell ?

(1) =time ()

(2) =nowtime ()
(3) =now() v
(4) = current time ()

What term refers to a specific set
of values saved with the
workbook.

1)
()
(3)
(4)

Page
File Set
Data Set

Scenario

(19 - A)

93.

94,

95.

To auto fit the width of a column
in MS —Word, one has to do the
following:

(1) Double click the left border

of the column

(2) Double click the right border

of the column /

Double click the column
header

3)

None of the above

(4)

In  which view back ground
colour will not be visible ?

1)
(2)
(3)
(4)

Print layout view
Web layout view

Print Preview ./

Reading view

Increment operator (+ +) operates
on number  of
operands. in the correct
answer.

Fill

(1) One o

(2) Two
(3) Three
(4) Four
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ncos elelctw BRLMWT 98.
AOTIOTEON QTIRES
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(1) »otRe BeexRnw

(2) <0227 TBReIRNYD

(3) T BT TRCIND

@ Q) ==, )2tz v

88 TRMOTTFIY 23 8B5S O 92
{int x=10, y=5, z;
Z=++X+y--;

Printf (“% d”, z);

(1) 16

(2) 15 v

3) 14

4) 25

99.

(20 - A)

100.

1SO - 0S| SwrsFs IPIOHY
2T BITALHIH 2

1) 5

(2) 6

@ 7 v

(4) 8

o370 SUSINNN
TOOWOLFIY WYE [PR REFT'
8308 FedFRTTD ?

Gl

&

&

1)
()
3)
(4)

§6c5€ 300

SR TBeeT Jp, v

g;dzse TOET®

ToEST®

BBRe AT, TIT' TR0 IY
BROLTIN ATE WROD APOT®
RFT ﬁéefﬁﬁﬁm&

ie@ﬂw&omdzﬁ%

(1) .wav files and .qgif files

(2)
(3) .wav files and .jpg files

Jpg files and .gif files

(4) .wav files and .mid files /
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97.

144

A computer program is generally

associated with

(1) Syntax errors

(2) Logic errors

(3) Round off errors

(4) Both (1)and (2) v

The value of ‘2’ in the program

IS
{int x=10, y=5, z;
Z=++X+ty--;

Printf (“% d”, 2);

1) 16

(2) 15 v

3) 14

4) 25

98.

99.

100.

1-A)

An ISO — OSI network model has
layers.

Fill in the blank with correct
option.

1) 5
(2) 6
@R 7 v
(4) 8

Which view in Power Point can
be used to enter speaker
comments ?

(1) Slide Show

(2) Notes Page View

(3) Slide Sorter

(4) Normal

In Microsoft Power Point, two
kind of sound effect files that can
be added to the presentation are

(1) .wav files and .gif files
(2) .jpg files and .gif files
(3) .wav files and .jpg files

(4) .wav files and .mid files
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144 Note : English version of the instructions is printed on the front cover of this booklet.




